Female - African American

remaie -	African A	merican																													
				2nd Fall					3rd Fall					4th Fall					5th Fall				6th	Fall					7th Fall		
Fall Cohort	Initial Cohort		e Graduated n 1 yr*	Cohort I	Retained	TRR**		Graduated 2 yrs*	Cohort I	Retained	TRR**		e Graduated n 3 yrs*	Cohort	Retained	TRR**		e Graduated 4 yrs*	Cohort	Retained	TRR**		e Graduated n 5 yrs	Cohort	Retained	TRR**		e Graduated n 6 yrs	Cohort F		TRR**
		n	% 1F	n	% 1F	% 1F	n	% 1F	n	% 1F	% 1F	n	% 1F	n	% 1F	% 1F	n	% 1F	n	% 1F	% 1F	n	% 1F	n	% 1F	% 1F	n	% 1F	n	% 1F	% 1F
2000	32	0	0.0	19	59.4	59.4	1	3.1	16	50.0	53.1	9	28.1	6	18.8	46.9	11	34.4	3	9.4	43.8	11	34.4	2	6.3	40.6	13	40.6	1	3.1	43.8
2001	47	2	4.3	30	63.8	68.1	3	6.4	26	55.3	61.7	9	19.1	21	44.7	63.8	22	46.8	7	14.9	61.7	27	57.4	0	0.0	57.4	27	57.4	1	2.1	59.6
2002	31	0	0.0	17	54.8	54.8	2	6.5	13	41.9	48.4	8	25.8	4	12.9	38.7	10	32.3	2	6.5	38.7	12	38.7	2	6.5	45.2	14	45.2	2	6.5	51.6
2003	43	1	2.3	31	72.1	74.4	5	11.6	23	53.5	65.1	13	30.2	11	25.6	55.8	22	51.2	3	7.0	58.1	24	55.8	1	2.3	58.1	24	55.8	1	2.3	58.1
2004	45	0	0.0	38	84.4	84.4	5	11.1	28	62.2	73.3	18	40.0	13	28.9	68.9	26	57.8	5	11.1	68.9	30	66.7	0	0.0	66.7	30	66.7	0	0.0	66.7
2005	38	1	2.6	31	81.6	84.2	5	13.2	24	63.2	76.3	19	50.0	9	23.7	73.7	25	65.8	1	2.6	68.4	27	71.1	0	0.0	71.1	27	71.1	0	0.0	71.1
2006	48	0	0.0	38	79.2	79.2	14	29.2	18	37.5	66.7	28	58.3	5	10.4	68.8	28	58.3	3	6.3	64.6	28	58.3	1	2.1	60.4	30	62.5	1	2.1	64.6
2007	48	1	2.1	40	83.3	85.4	8	16.7	27	56.3	72.9	20	41.7	14	29.2	70.8	27	56.3	6	12.5	68.8	32	66.7	0	0.0	66.7	33	68.8	0	0.0	68.8
2008	56	1	1.8	44	78.6	80.4	9	16.1	34	60.7	76.8	24	42.9	13	23.2	66.1	32	57.1	5	8.9	66.1	34	60.7	2	3.6	64.3	36	64.3	2	3.6	67.9
2009	59	4	6.8	41	69.5	76.3	13	22.0	29	49.2	71.2	28	47.5	8	13.6	61.0	38	64.4	2	3.4	67.8	38	64.4	1	1.7	66.1			. '	1	
2010	57	1	1.8	48	84.2	86.0	14	24.6	33	57.9	82.5	33	57.9	12	21.1	78.9	41	71.9	3	5.3	77.2								. '	i	
2011	69	0	0.0	52	75.4	75.4	13	18.8	35	50.7	69.6	28	40.6	18	26.1	66.7														ı	
2012	80	2	2.5	66	82.5	85.0	14	17.5	46	57.5	75.0																		. '	i	
2013	75	1	1.3	55	73.3	74.7																								ı	
2014	115																												. '	i	
								ı	ı			II .	1	ı			II .							ı	1	1					
		Average	1.4		78.9			20.3										64.5										65.2			
		Std Dev.	0.9		4.6			3.1										6.0										2.6			
		Sid Dev.	0.9		4.0			3.1										0.0										2.0			

Female - Native American

i emale -																															
				2nd Fall					3rd Fall					4th Fall					5th Fall				6th	Fall					7th Fall		
Fall Cohort	Initial Cohort		e Graduated	Cohort F	Retained	TRR**		Graduated 2 yrs*	Cohort F	Retained	TRR**	Cumulative within	3 yrs *	Cohort F		TRR**	Cumulative within	Graduated 4 yrs*	Cohort	Retained	TRR**		Graduated 5 yrs	Cohort	Retained	TRR**	Cumulative within	Graduated 6 yrs	Cohort F		TRR**
		n	% 1F	n	% 1F	% 1F	n	% 1F	n	% 1F	% 1F	n	% 1F	n	% 1F	% 1F	n	% 1F	n	% 1F	% 1F	n	% 1F	n	% 1F	% 1F	n	% 1F	n	% 1F	% 1F
2000	2	0	0.0	2	100.0	100.0	0	0.0	2	100.0	100.0	1	50.0	1	50.0	100.0	1	50.0	0	0.0	50.0	1	50.0	0	0.0	50.0	2	100.0	0	0.0	100.0
2001	1	0	0.0	0	0.0	0.0	0	0.0	0	0.0	0.0	0	0.0	0	0.0	0.0	0	0.0	0	0.0	0.0	0	0.0	0	0.0	0.0	0	0.0	1	100.0	100.0
2002	0	-																											. '		
2003	1	0	0.0	1	100.0	100.0	0	0.0	1	100.0	100.0	1	100.0	0	0.0	100.0	1	100.0	0	0.0	100.0	1	100.0	0	0.0	100.0	1	100.0	0	0.0	100.0
2004	3	0	0.0	1	33.3	33.3	0	0.0	1	33.3	33.3	0	0.0	1	33.3	33.3	0	0.0	0	0.0	0.0	1	33.3	0	0.0	33.3	1	33.3	0	0.0	33.3
2005	2	0	0.0	1	50.0	50.0	0	0.0	1	50.0	50.0	0	0.0	1	50.0	50.0	1	50.0	0	0.0	50.0	1	50.0	0	0.0	50.0	1	50.0	0	0.0	50.0
2006	0	-																											. '		
2007	1	0	0.0	0	0.0	0.0	0	0.0	0	0.0	0.0	0	0.0	0	0.0	0.0	0	0.0	0	0.0	0.0	0	0.0	0	0.0	0.0	0	0.0	0	0.0	0.0
2008	4	0	0.0	3	75.0	75.0	1	25.0	2	50.0	75.0	3	75.0	0	0.0	75.0	4	100.0	0	0.0	100.0	4	100.0	0	0.0	100.0	4	100.0	0	0.0	100.0
2009	2	0	0.0	2	100.0	100.0	0	0.0	0	0.0	0.0	0	0.0	0	0.0	0.0	0	0.0	0	0.0	0.0	0	0.0	0	0.0	0.0					
2010	5	0	0.0	5	100.0	100.0	1	20.0	2	40.0	60.0	2	40.0	0	0.0	40.0	3	60.0	0	0.0	60.0								. '		
2011	1	0	0.0	0	0.0	0.0	0	0.0	0	0.0	0.0	0	0.0	0	0.0	0.0													. '		
2012	2	0	0.0	2	100.0	100.0	0	0.0	2	100.0	100.0																		. '		
2013	1	0	0.0	1	100.0	100.0																									
2014	2	I										I	1		ĺ																
		-										-	•		•					*		_			•						
		Average	0.0		75.0			6.7										53.3										50.0			
		Std Dev.	0.0		43.3			9.4										41.1										50.0			

Female - Asian (Prior to 2010 includes Pacific Islanders)

				2nd Fall					3rd Fall					4th Fall					5th Fall				6th I	Fall					7th Fall	/ /	/ /
Fall Cohort	Initial Cohort		e Graduated n 1 yr*	Cohort F	Retained	TRR**		e Graduated 2 yrs*	Cohort I	Retained	TRR**	Cumulative within	Graduated 3 yrs*	Cohort F	Retained	TRR**		Graduated 4 yrs*	Cohort F	Retained	TRR**		Graduated 5 yrs	Cohort I	Retained	TRR**		Graduated 6 yrs	Cohort	Retained	TRR**
		n	% 1F	n	% 1F	% 1F	n	% 1F	n	% 1F	% 1F	n	% 1F	n	% 1F	% 1F	n	% 1F	n	% 1F	% 1F	n	% 1F	n	% 1F	% 1F	n	% 1F	n	% 1F	% 1F
2000	6	0	0.0	4	66.7	66.7	1	16.7	2	33.3	50.0	2	33.3	1	16.7	50.0	3	50.0	0	0.0	50.0	3	50.0	0	0.0	50.0	3	50.0	0	0.0	50.0
2001	13	0	0.0	10	76.9	76.9	2	15.4	9	69.2	84.6	8	61.5	2	15.4	76.9	10	76.9	0	0.0	76.9	11	84.6	0	0.0	84.6	11	84.6	0	0.0	84.6
2002	14	2	14.3	10	71.4	85.7	5	35.7	3	21.4	57.1	7	50.0	1	7.1	57.1	7	50.0	0	0.0	50.0	7	50.0	1	7.1	57.1	8	57.1	0	0.0	57.1
2003	9	1	11.1	7	77.8	88.9	5	55.6	2	22.2	77.8	7	77.8	0	0.0	77.8	7	77.8	0	0.0	77.8	7	77.8	0	0.0	77.8	7	77.8	0	0.0	77.8
2004	16	1	6.3	12	75.0	81.3	4	25.0	6	37.5	62.5	8	50.0	2	12.5	62.5	10	62.5	0	0.0	62.5	10	62.5	0	0.0	62.5	10	62.5	0	0.0	62.5
2005	11	0	0.0	10	90.9	90.9	3	27.3	6	54.5	81.8	3	27.3	5	45.5	72.7	6	54.5	2	18.2	72.7	8	72.7	0	0.0	72.7	8	72.7	0	0.0	72.7
2006	11	0	0.0	8	72.7	72.7	2	18.2	6	54.5	72.7	7	63.6	1	9.1	72.7	8	72.7	1	9.1	81.8	9	81.8	0	0.0	81.8	9	81.8	0	0.0	81.8
2007	7	0	0.0	6	85.7	85.7	1	14.3	5	71.4	85.7	4	57.1	2	28.6	85.7	6	85.7	0	0.0	85.7	6	85.7	0	0.0	85.7	6	85.7	0	0.0	85.7
2008	17	1	5.9	12	70.6	76.5	3	17.6	9	52.9	70.6	9	52.9	2	11.8	64.7	11	64.7	2	11.8	76.5	12	70.6	1	5.9	76.5	12	70.6	0	0.0	70.6
2009	12	0	0.0	10	83.3	83.3	4	33.3	5	41.7	75.0	7	58.3	2	16.7	75.0	9	75.0	0	0.0	75.0	9	75.0	0	0.0	75.0					
2010	18	0	0.0	15	83.3	83.3	6	33.3	8	44.4	77.8	11	61.1	5	27.8	88.9	15	83.3	0	0.0	83.3										
2011	14	0	0.0	12	85.7	85.7	4	28.6	7	50.0	78.6	8	57.1	2	14.3	71.4															
2012	12	0	0.0	9	75.0	75.0	2	16.7	7	58.3	75.0																				
2013	24	2	8.3	15	62.5	70.8																									
2014	17						II	1		l	l						I	1			l	I	l I	l		1				1	

74.3 7.6

2.1 3.6 *Number and percent of original cohort who have graduated within 4 years (before 5th fall).

Average Std Dev.

9.1

^{*}Number and percent of original cohort who have graduated within 4 years (before 5th fall).

With degree sweeps and IPEDS exclusions through 10/2014.

**TRR: Total Retention Rate. The total number of students from the original cohort that have graduated or are still enrolled.

[&]quot;Number and percent of original cohort who have graduated within 4 years (before 5th fall).

With degree sweeps and IPEDS exclusions through 10/2014.

"TRR: Total Retention Rate. The total number of students from the original cohort that have graduated or are still enrolled.

With degree sweeps and IPEDS exclusions through 10/2014.

**TRR: Total Retention Rate. The total number of students from the original cohort that have graduated or are still enrolled.

Female - Latina

				2nd Fall					3rd Fall					4th Fall					5th Fall				6th	Fall					7th Fall		
Fall Cohor	Initial Cohort		e Graduated n 1 yr*	Cohort F	Retained	TRR**	Cumulative within	Graduated 2 yrs*	Cohort F	Retained	TRR**		Graduated 3 yrs*	Cohort F	Retained	TRR**		e Graduated 4 yrs*	Cohort	Retained	TRR**		Graduated 5 yrs	Cohort	Retained	TRR**	Cumulative within	Graduated 6 yrs	Cohort F	Retained	TRR**
		n	% 1F	n	% 1F	% 1F	n	% 1F	n	% 1F	% 1F	n	% 1F	n	% 1F	% 1F	n	% 1F	n	% 1F	% 1F	n	% 1F	n	% 1F	% 1F	n	% 1F	n	% 1F	% 1F
2000	11	0	0.0	9	81.8	81.8	1	9.1	8	72.7	81.8	5	45.5	4	36.4	81.8	9	81.8	0	0.0	81.8	9	81.8	0	0.0	81.8	9	81.8	0	0.0	81.8
2001	8	0	0.0	7	87.5	87.5	0	0.0	7	87.5	87.5	3	37.5	4	50.0	87.5	6	75.0	1	12.5	87.5	6	75.0	1	12.5	87.5	6	75.0	0	0.0	75.0
2002	6	0	0.0	5	83.3	83.3	1	16.7	2	33.3	50.0	2	33.3	1	16.7	50.0	3	50.0	1	16.7	66.7	3	50.0	0	0.0	50.0	3	50.0	0	0.0	50.0
2003	6	0	0.0	5	83.3	83.3	1	16.7	3	50.0	66.7	2	33.3	2	33.3	66.7	3	50.0	1	16.7	66.7	3	50.0	1	16.7	66.7	4	66.7	0	0.0	66.7
2004	12	0	0.0	8	66.7	66.7	4	33.3	4	33.3	66.7	5	41.7	4	33.3	75.0	6	50.0	2	16.7	66.7	7	58.3	1	8.3	66.7	7	58.3	1	8.3	66.7
2005	13	0	0.0	11	84.6	84.6	4	30.8	7	53.8	84.6	7	53.8	4	30.8	84.6	10	76.9	1	7.7	84.6	10	76.9	1	7.7	84.6	11	84.6	0	0.0	84.6
2006	11	0	0.0	8	72.7	72.7	2	18.2	5	45.5	63.6	6	54.5	1	9.1	63.6	7	63.6	0	0.0	63.6	7	63.6	0	0.0	63.6	7	63.6	1	9.1	72.7
2007	13	2	15.4	8	61.5	76.9	3	23.1	4	30.8	53.8	5	38.5	2	15.4	53.8	6	46.2	1	7.7	53.8	7	53.8	0	0.0	53.8	7	53.8	0	0.0	53.8
2008	19	1	5.3	13	68.4	73.7	6	31.6	6	31.6	63.2	12	63.2	3	15.8	78.9	13	68.4	0	0.0	68.4	13	68.4	2	10.5	78.9	14	73.7	0	0.0	73.7
2009	27	2	7.4	18	66.7	74.1	6	22.2	14	51.9	74.1	12	44.4	8	29.6	74.1	16	59.3	3	11.1	70.4	19	70.4	0	0.0	70.4					
2010	24	0	0.0	20	83.3	83.3	3	12.5	17	70.8	83.3	13	54.2	5	20.8	75.0	16	66.7	1	4.2	70.8										
2011	21	0	0.0	20	95.2	95.2	6	28.6	10	47.6	76.2	10	47.6	5	23.8	71.4															
2012	30	0	0.0	24	80.0	80.0	6	20.0	16	53.3	73.3																				
2013	31	0	0.0	25	80.6	80.6																									
2014	43																														
					•					•							_			•								•			
		Average	0.0		84.8			20.4										64.8										63.7			
		Std Dev.	0.0		6.2			6.6										4.0										8.1			

Female - White

				2nd Fall					3rd Fall					4th Fall					5th Fall				6th	Fall					7th Fall		
Fall Cohort	Initial Cohort		e Graduated n 1 yr*	Cohort F	Retained	TRR**	Cumulative within	Graduated 2 yrs*	Cohort F	Retained	TRR**		e Graduated 3 yrs*	Cohort F	Retained	TRR**	Cumulative within		Cohort I	Retained	TRR**	Cumulative within	Graduated 5 yrs	Cohort I	Retained	TRR**	Cumulative within	Graduated 6 yrs	Cohort F	Retained	TRR**
		n	% 1F	n	% 1F	% 1F	n	% 1F	n	% 1F	% 1F	n	% 1F	n	% 1F	% 1F	n	% 1F	n	% 1F	% 1F	n	% 1F	n	% 1F	% 1F	n	% 1F	n	% 1F	% 1F
2000	457	8	1.8	338	74.0	75.7	52	11.4	261	57.1	68.5	191	41.8	113	24.7	66.5	262	57.3	35	7.7	65.0	282	61.7	12	2.6	64.3	290	63.5	2	0.4	63.9
2001	437	5	1.1	346	79.2	80.3	50	11.4	278	63.6	75.1	204	46.7	104	23.8	70.5	283	64.8	22	5.0	69.8	298	68.2	11	2.5	70.7	303	69.3	6	1.4	70.7
2002	469	12	2.6	364	77.6	80.2	66	14.1	271	57.8	71.9	201	42.9	124	26.4	69.3	300	64.0	22	4.7	68.7	308	65.7	13	2.8	68.4	316	67.4	5	1.1	68.4
2003	457	6	1.3	357	78.1	79.4	82	17.9	247	54.0	72.0	228	49.9	97	21.2	71.1	295	64.6	28	6.1	70.7	307	67.2	9	2.0	69.1	315	68.9	8	1.8	70.7
2004	465	11	2.4	375	80.6	83.0	88	18.9	254	54.6	73.5	243	52.3	91	19.6	71.8	310	66.7	25	5.4	72.0	329	70.8	8	1.7	72.5	334	71.8	5	1.1	72.9
2005	476	5	1.1	370	77.7	78.8	74	15.5	271	56.9	72.5	240	50.4	99	20.8	71.2	319	67.0	20	4.2	71.2	330	69.3	13	2.7	72.1	336	70.6	8	1.7	72.3
2006	465	7	1.5	370	79.6	81.1	67	14.4	279	60.0	74.4	229	49.2	110	23.7	72.9	312	67.1	27	5.8	72.9	335	72.0	7	1.5	73.5	336	72.3	4	0.9	73.1
2007	472	10	2.1	386	81.8	83.9	93	19.7	280	59.3	79.0	272	57.6	92	19.5	77.1	342	72.5	19	4.0	76.5	359	76.1	7	1.5	77.5	362	76.7	3	0.6	77.3
2008	509	5	1.0	421	82.7	83.7	103	20.2	306	60.1	80.4	295	58.0	105	20.6	78.6	373	73.3	22	4.3	77.6	389	76.4	10	2.0	78.4	398	78.2	3	0.6	78.8
2009	551	17	3.1	444	80.6	83.7	120	21.8	317	57.5	79.3	314	57.0	116	21.1	78.0	401	72.8	23	4.2	77.0	417	75.7	7	1.3	77.0					
2010	600	13	2.2	500	83.3	85.5	125	20.8	362	60.3	81.2	332	55.3	137	22.8	78.2	444	74.0	32	5.3	79.3										
2011	586	16	2.7	490	83.6	86.3	129	22.0	354	60.4	82.4	350	59.7	121	20.6	80.4															
2012	613	10	1.6	510	83.2	84.8	139	22.7	345	56.3	79.0																				
2013	588	16	2.7	487	82.8	85.5																									
2014	539																														
						•																	-								
		Average	2.3		83.2			21.8										73.4										75.7			
		Std Dev.	0.5		0.3			0.8										0.5										2.5			

				2nd Fall					3rd Fall					4th Fall					5th Fall				6th	Fall					7th Fall		
Fall Cohort	Initial Cohort		e Graduated n 1 yr*	Cohort F	Retained	TRR**		Graduated 2 yrs*	Cohort F	Retained	TRR**		Graduated 3 yrs*	Cohort	Retained	TRR**		e Graduated 4 yrs*	Cohort F	Retained	TRR**		Graduated 5 yrs	Cohort I	Retained	TRR**		e Graduated	Cohort	Retained	TRR**
		n	% 1F	n	% 1F	% 1F	n	% 1F	n	% 1F	% 1F	n	% 1F	n	% 1F	% 1F	n	% 1F	n	% 1F	% 1F	n	% 1F	n	% 1F	% 1F	n	% 1F	n	% 1F	% 1F
2000	3	0	0.0	3	100.0	100.0	0	0.0	3	100.0	100.0	2	66.7	1	33.3	100.0	2	66.7	1	33.3	100.0	3	100.0	0	0.0	100.0	3	100.0	0	0.0	100.0
2001	4	0	0.0	4	100.0	100.0	0	0.0	4	100.0	100.0	1	25.0	2	50.0	75.0	3	75.0	0	0.0	75.0	3	75.0	0	0.0	75.0	3	75.0	0	0.0	75.0
2002	10	0	0.0	8	80.0	80.0	2	20.0	6	60.0	80.0	5	50.0	3	30.0	80.0	8	80.0	1	10.0	90.0	8	80.0	0	0.0	80.0	8	80.0	0	0.0	80.0
2003	3	1	33.3	2	66.7	100.0	2	66.7	0	0.0	66.7	2	66.7	0	0.0	66.7	2	66.7	0	0.0	66.7	2	66.7	0	0.0	66.7	2	66.7	0	0.0	66.7
2004	8	0	0.0	6	75.0	75.0	5	62.5	1	12.5	75.0	6	75.0	0	0.0	75.0	6	75.0	0	0.0	75.0	6	75.0	0	0.0	75.0	6	75.0	0	0.0	75.0
2005	9	0	0.0	6	66.7	66.7	4	44.4	2	22.2	66.7	5	55.6	1	11.1	66.7	6	66.7	0	0.0	66.7	6	66.7	0	0.0	66.7	6	66.7	0	0.0	66.7
2006	6	0	0.0	4	66.7	66.7	1	16.7	2	33.3	50.0	3	50.0	0	0.0	50.0	3	50.0	0	0.0	50.0	3	50.0	0	0.0	50.0	3	50.0	0	0.0	50.0
2007	4	0	0.0	4	100.0	100.0	2	50.0	2	50.0	100.0	2	50.0	0	0.0	50.0	3	75.0	1	25.0	100.0	3	75.0	0	0.0	75.0	3	75.0	0	0.0	75.0
2008	2	1	50.0	1	50.0	100.0	1	50.0	1	50.0	100.0	1	50.0	1	50.0	100.0	1	50.0	1	50.0	100.0	1	50.0	0	0.0	50.0	1	50.0	0	0.0	50.0
2009	3	0	0.0	2	66.7	66.7	0	0.0	2	66.7	66.7	1	33.3	1	33.3	66.7	2	66.7	0	0.0	66.7	2	66.7	0	0.0	66.7					
2010	6	0	0.0	4	66.7	66.7	1	16.7	1	16.7	33.3	3	50.0	0	0.0	50.0	4	66.7	0	0.0	66.7										
2011	11	0	0.0	7	63.6	63.6	2	18.2	4	36.4	54.5	5	45.5	1	9.1	54.5															
2012	7	0	0.0	7	100.0	100.0	5	71.4	2	28.6	100.0																				
2013	3	0	0.0	3	100.0	100.0																									
2014	5																														
		Average Std Dev.	0.0		82.6 17.5			35.4 25.5										61.1 7.9										58.3 11.8			

0.0 *Number and percent of original cohort who have graduated within 4 years (before 5th fall).

^{*}Number and percent of original cohort who have graduated within 4 years (before 5th fall).

With degree sweeps and IPEDS exclusions through 10/2014.

**TRR: Total Retention Rate. The total number of students from the original cohort that have graduated or are still enrolled.

[&]quot;Number and percent of original cohort who have graduated within 4 years (before 5th fall).

With degree sweeps and IPEDS exclusions through 10/2014.

"TRR: Total Retention Rate. The total number of students from the original cohort that have graduated or are still enrolled.

With degree sweeps and IPEDS exclusions through 10/2014.

**TRR: Total Retention Rate. The total number of students from the original cohort that have graduated or are still enrolled.

Female - Pacific Islander

		uomo ioic																														
					2nd Fall					3rd Fall					4th Fall					5th Fall				6th	Fall					7th Fall		
	Fall ohort	Initial Cohort	Cumulative within	Graduated 1 yr*	Cohort F	Retained	TRR**		e Graduated n 2 yrs*	Cohort	Retained	TRR**	Cumulative	e Graduated 3 yrs*	Cohor	t Retained	TRR**		e Graduated 4 yrs*	Cohort	Retained	TRR**		e Graduated n 5 yrs	Cohort	Retained	TRR**		e Graduated n 6 yrs	Cohort	Retained	TRR**
			n	% 1F	n	% 1F	% 1F	n	% 1F	n	% 1F	% 1F	n	% 1F	n	% 1F	% 1F	n	% 1F	n	% 1F	% 1F	n	% 1F	n	% 1F	% 1F	n	% 1F	n	% 1F	% 1F
200	00-2009	eported un	nder "Asian"																													
	2010	1	0	0.0	0	0.0	0.0	0	0.0	0	0.0	0.0	0	0.0	0	0.0	0.0	0	0.0	0	0.0	0.0	I	1		1	l				1 ,	1 1
	2011	0	-																	1											,	1 1
	2012	1	0	0.0	1	100.0	100.0	0	0.0	1	100.0	100.0																			,	1 1
	2013	2	0	0.0	2	100.0	100.0																								,	1 1
- 2	2014	1																			1										'	l ,
			Average	0.0		100.0			0.0																							
			Std Dev.	0.0		0.0			0.0																							

*Number and percent of original cohort who have graduated within 4 years (before 5th fall).

Female - Multi-racial

				2nd Fall					3rd Fall					4th Fall					5th Fall				6th	Fall					7th Fall		
Fall Cohort	Initial Cohort		Graduated	Cohort F	Retained	TRR**	Cumulative within		Cohort F	Retained	TRR**	Cumulative within		Cohort F	Retained	TRR**	Cumulative within	Graduated 4 yrs*	Cohort	Retained	TRR**		Graduated 5 yrs	Cohort I	Retained	TRR**	Cumulative within		Cohort F	tetained	TRR**
		n	% 1F	n	% 1F	% 1F	n	% 1F	n	% 1F	% 1F	n	% 1F	n	% 1F	% 1F	n	% 1F	n	% 1F	% 1F	n	% 1F	n	% 1F	% 1F	n	% 1F	n	% 1F	% 1F
2000	0	-																													
2001	0	-																													
2002	0	-																													
2003	3	0	0.0	2	66.7	66.7	0	0.0	2	66.7	66.7	2	66.7	0	0.0	66.7	2	66.7	0	0.0	66.7	2	66.7	0	0.0	66.7	2	66.7	0	0.0	66.7
2004	0	-																													
2005	0	-																													
2006	0	-																													
2007	0	-																													
2008	0	-																													
2009	0	_																													
2010	Ĭ.	0	0.0	1	100.0	100.0	1	100.0	0	0.0	100.0	1	100.0	0	0.0	100.0	1	100.0	0	0.0	100.0										
2011	10	0	0.0	8	80.0	80.0	2	20.0	6	60.0	80.0	5	50.0	3	30.0	80.0															
2012	13	0	0.0	11	84.6	84.6	2	15.4	7	53.8	69.2							1			1		1				I				1
2013	20	1	5.0	18	90.0	95.0	II -											1			1		1				I				1
2014	23																														

Average Std Dev. 1.3 2.2 100.0 0.0 38.8

"Number and percent of original cohort who have graduated within 4 years (before 5th fall).

With degree sweeps and IPEDS exclusions through 10/2014.

"TRR: Total Retention Rate. The total number of students from the original cohort that have graduated or are still enrolled.

Female - Unknown

				2nd Fall					3rd Fall					4th Fall					5th Fall				6th	Fall					7th Fall		
Fall Cohort	Initial Cohort		Graduated 1 1 yr*	Cohort F	Retained	TRR**	Cumulative within		Cohort F	Retained	TRR**	Cumulative within		Cohort F	Retained	TRR**	Cumulative within	Graduated 4 yrs*	Cohort	Retained	TRR**	Cumulative within	Graduated 5 yrs	Cohort F	Retained	TRR**		Graduated 6 yrs	Cohort F	Retained	TRR**
		n	% 1F	n	% 1F	% 1F	n	% 1F	n	% 1F	% 1F	n	% 1F	n	% 1F	% 1F	n	% 1F	n	% 1F	% 1F	n	% 1F	n	% 1F	% 1F	n	% 1F	n	% 1F	% 1F
2000	0	-																													
2001	0	-																													
2002	5	0	0.0	3	60.0	60.0	2	40.0	0	0.0	40.0	2	40.0	0	0.0	40.0	2	40.0	0	0.0	40.0	2	40.0	0	0.0	40.0	2	40.0	0	0.0	40.0
2003	8	1	12.5	6	75.0	87.5	2	25.0	3	37.5	62.5	3	37.5	3	37.5	75.0	4	50.0	1	12.5	62.5	5	62.5	0	0.0	62.5	5	62.5	0	0.0	62.5
2004	3	0	0.0	1	33.3	33.3	0	0.0	1	33.3	33.3	1	33.3	0	0.0	33.3	1	33.3	1	33.3	66.7	2	66.7	0	0.0	66.7	2	66.7	0	0.0	66.7
2005	1	0	0.0	1	100.0	100.0	0	0.0	1	100.0	100.0	1	100.0	0	0.0	100.0	1	100.0	0	0.0	100.0	1	100.0	0	0.0	100.0	1	100.0	0	0.0	100.0
2006	1	0	0.0	1	100.0	100.0	1	100.0	0	0.0	100.0	1	100.0	0	0.0	100.0	1	100.0	0	0.0	100.0	1	100.0	0	0.0	100.0	1	100.0	0	0.0	100.0
2007	0	-																													
2008	5	0	0.0	2	40.0	40.0	0	0.0	2	40.0	40.0	1	20.0	0	0.0	20.0	1	20.0	0	0.0	20.0	1	20.0	0	0.0	20.0	1	20.0	0	0.0	20.0
2009	6	0	0.0	5	83.3	83.3	1	16.7	4	66.7	83.3	2	33.3	2	33.3	66.7	4	66.7	0	0.0	66.7	4	66.7	0	0.0	66.7					
2010	1	0	0.0	1	100.0	100.0	0	0.0	1	100.0	100.0	0	0.0	0	0.0	0.0	0	0.0	0	0.0	0.0										
2011	0	-																													
2012	0	-																													
2013	0	-		ĺ			I											1		1							I	1		ĺ	
2014	10																														

0.0 0.0 100.0 28.9 27.9 60.0 40.0 0.0 Average Std Dev.

With degree sweeps and IPEDS exclusions through 10/2014.
**TRR: Total Retention Rate. The total number of students from the original cohort that have graduated or are still enrolled.

^{*}Number and percent of original cohort who have graduated within 4 years (before 5th fall).

With degree sweeps and IPEDS exclusions through 10/2014.

**TRR: Total Retention Rate. The total number of students from the original cohort that have graduated or are still enrolled.

Male - African American

	loun Ame			2nd Fall					3rd Fall					4th Fall					5th Fall				6th	Fall					7th Fall		
Fall Cohort	Initial Cohort	Cumulative within	Graduated 1 1 yr*	Cohort F	Retained	TRR**		Graduated 2 yrs*	Cohort F	Retained	TRR**		Graduated 3 yrs*	Cohort I	Retained	TRR**	Cumulative within	e Graduated 4 yrs*	Cohort	Retained	TRR**	Cumulative within	Graduated 5 yrs	Cohort I	Retained	TRR**	Cumulative within	Graduated 6 yrs	Cohort F	Retained	TRR**
		n	% 1F	n	% 1F	% 1F	n	% 1F	n	% 1F	% 1F	n	% 1F	n	% 1F	% 1F	n	% 1F	n	% 1F	% 1F	n	% 1F	n	% 1F	% 1F	n	% 1F	n	% 1F	% 1F
2000	25	0	0.0	12	48.0	48.0	1	4.0	7	28.0	32.0	2	8.0	5	20.0	28.0	3	12.0	4	16.0	28.0	5	20.0	1	4.0	24.0	6	24.0	0	0.0	24.0
2001	24	1	4.2	15	62.5	66.7	3	12.5	9	37.5	50.0	4	16.7	7	29.2	45.8	10	41.7	3	12.5	54.2	12	50.0	1	4.2	54.2	13	54.2	0	0.0	54.2
2002	19	0	0.0	13	68.4	68.4	0	0.0	9	47.4	47.4	7	36.8	2	10.5	47.4	9	47.4	1	5.3	52.6	9	47.4	1	5.3	52.6	9	47.4	1	5.3	52.6
2003	30	1	3.3	21	70.0	73.3	3	10.0	14	46.7	56.7	9	30.0	7	23.3	53.3	10	33.3	4	13.3	46.7	14	46.7	1	3.3	50.0	15	50.0	1	3.3	53.3
2004	19	0	0.0	11	57.9	57.9	1	5.3	5	26.3	31.6	3	15.8	4	21.1	36.8	3	15.8	2	10.5	26.3	4	21.1	1	5.3	26.3	6	31.6	0	0.0	31.6
2005	29	0	0.0	23	79.3	79.3	5	17.2	13	44.8	62.1	10	34.5	8	27.6	62.1	13	44.8	3	10.3	55.2	15	51.7	1	3.4	55.2	15	51.7	0	0.0	51.7
2006	27	0	0.0	22	81.5	81.5	5	18.5	16	59.3	77.8	10	37.0	8	29.6	66.7	14	51.9	3	11.1	63.0	15	55.6	3	11.1	66.7	18	66.7	0	0.0	66.7
2007	34	2	5.9	27	79.4	85.3	7	20.6	19	55.9	76.5	17	50.0	8	23.5	73.5	20	58.8	6	17.6	76.5	22	64.7	4	11.8	76.5	24	70.6	2	5.9	76.5
2008	29	0	0.0	24	82.8	82.8	4	13.8	18	62.1	75.9	8	27.6	13	44.8	72.4	17	58.6	3	10.3	69.0	17	58.6	1	3.4	62.1	19	65.5	0	0.0	65.5
2009	48	3	6.3	33	68.8	75.0	9	18.8	24	50.0	68.8	18	37.5	7	14.6	52.1	22	45.8	5	10.4	56.3	24	50.0	0	0.0	50.0					1 1
2010	48	0	0.0	40	83.3	83.3	4	8.3	29	60.4	68.8	14	29.2	17	35.4	64.6	25	52.1	3	6.3	58.3										1 1
2011	47	0	0.0	36	76.6	76.6	2	4.3	25	53.2	57.4	14	29.8	11	23.4	53.2															1
2012	47	0	0.0	39	83.0	83.0	5	10.6	31	66.0	76.6																				1 1
2013	53	0	0.0	44	83.0	83.0																									1 1
2014	53																														1 1
R.		-	-								•	-										-	•								
		Average	0.0		81.5			7.7										52.2										67.6			
		Std Dev.	0.0		2.8			2.6										5.2										2.2			

Male - Native American

				2nd Fall					3rd Fall					4th Fall					5th Fall				6th	Fall					7th Fall		
Fall Cohort	Initial Cohort		e Graduated n 1 yr*	Cohort F	Retained	TRR**	Cumulative within	e Graduated 2 yrs*	Cohort I	Retained	TRR**		Graduated 3 yrs*	Cohort F	Retained	TRR**		e Graduated 4 yrs*	Cohort	Retained	TRR**		e Graduated n 5 yrs	Cohort	Retained	TRR**		Graduated 6 yrs	Cohort F	Retained	TRR**
		n	% 1F	n	% 1F	% 1F	n	% 1F	n	% 1F	% 1F	n	% 1F	n	% 1F	% 1F	n	% 1F	n	% 1F	% 1F	n	% 1F	n	% 1F	% 1F	n	% 1F	n	% 1F	% 1F
2000	2	0	0.0	1	50.0	50.0	0	0.0	1	50.0	50.0	1	50.0	0	0.0	50.0	1	50.0	0	0.0	50.0	1	50.0	0	0.0	50.0	1	50.0	0	0.0	50.0
2001	0	-																													1 1
2002	4	0	0.0	3	75.0	75.0	0	0.0	3	75.0	75.0	2	50.0	1	25.0	75.0	3	75.0	0	0.0	75.0	3	75.0	0	0.0	75.0	3	75.0	0	0.0	75.0
2003	1	0	0.0	1	100.0	100.0	0	0.0	1	100.0	100.0	0	0.0	1	100.0	100.0	1	100.0	0	0.0	100.0	1	100.0	0	0.0	100.0	1	100.0	0	0.0	100.0
2004	2	0	0.0	2	100.0	100.0	0	0.0	2	100.0	100.0	0	0.0	2	100.0	100.0	2	100.0	0	0.0	100.0	2	100.0	0	0.0	100.0	2	100.0	0	0.0	100.0
2005	2	0	0.0	2	100.0	100.0	1	50.0	1	50.0	100.0	1	50.0	0	0.0	50.0	1	50.0	0	0.0	50.0	1	50.0	0	0.0	50.0	1	50.0	0	0.0	50.0
2006	2	0	0.0	1	50.0	50.0	0	0.0	1	50.0	50.0	1	50.0	0	0.0	50.0	1	50.0	0	0.0	50.0	1	50.0	0	0.0	50.0	1	50.0	0	0.0	50.0
2007	2	0	0.0	2	100.0	100.0	0	0.0	2	100.0	100.0	2	100.0	0	0.0	100.0	2	100.0	0	0.0	100.0	2	100.0	0	0.0	100.0	2	100.0	0	0.0	100.0
2008	1	0	0.0	1	100.0	100.0	0	0.0	1	100.0	100.0	0	0.0	0	0.0	0.0	0	0.0	0	0.0	0.0	0	0.0	0	0.0	0.0	0	0.0	0	0.0	0.0
2009	1	0	0.0	1	100.0	100.0	0	0.0	1	100.0	100.0	1	100.0	0	0.0	100.0	1	100.0	0	0.0	100.0	1	100.0	0	0.0	100.0					1
2010	4	0	0.0	4	100.0	100.0	1	25.0	3	75.0	100.0	2	50.0	2	50.0	100.0	3	75.0	0	0.0	75.0										1
2011	0	-																	1					l							1
2012	2	0	0.0	1	50.0	50.0	0	0.0	1	50.0	50.0								l					l							1
2013	1	0	0.0	1	100.0	100.0													l					l							1
2014	1																		l					l							1
-																										•					
		Average	0.0		83.3			12.5										58.3										50.0			
		Std Dev.	0.0		23.6			12.5										42.5										40.8			

				2nd Fall					3rd Fall					4th Fall					5th Fall				6th I	Fall					7th Fall		
Fall Cohort	Initial Cohort		e Graduated n 1 yr*	Cohort F	tetained	TRR**		e Graduated 2 yrs*	Cohort F	Retained	TRR**	Cumulative within		Cohort F	Retained	TRR**		Graduated 4 yrs*	Cohort F	Retained	TRR**	Cumulative within	Graduated 5 yrs	Cohort F	Retained	TRR**		Graduated 6 yrs	Cohort I	Retained	TRR**
		n	% 1F	n	% 1F	% 1F	n	% 1F	n	% 1F	% 1F	n	% 1F	n	% 1F	% 1F	n	% 1F	n	% 1F	% 1F	n	% 1F	n	% 1F	% 1F	n	% 1F	n	% 1F	% 1F
2000	8	0	0.0	8	100.0	100.0	0	0.0	8	100.0	100.0	3	37.5	2	25.0	62.5	5	62.5	0	0.0	62.5	5	62.5	0	0.0	62.5	5	62.5	0	0.0	62.5
2001	7	0	0.0	4	57.1	57.1	0	0.0	4	57.1	57.1	0	0.0	3	42.9	42.9	2	28.6	0	0.0	28.6	2	28.6	0	0.0	28.6	3	42.9	0	0.0	42.9
2002	1	1	100.0	0	0.0	100.0	1	100.0	0	0.0	100.0	1	100.0	0	0.0	100.0	1	100.0	0	0.0	100.0	1	100.0	0	0.0	100.0	1	100.0	. 0	0.0	100.0
2003	7	0	0.0	6	85.7	85.7	2	28.6	4	57.1	85.7	3	42.9	2	28.6	71.4	4	57.1	0	0.0	57.1	5	71.4	1	14.3	85.7	6	85.7	. 0	0.0	85.7
2004	9	0	0.0	8	88.9	88.9	3	33.3	5	55.6	88.9	6	66.7	1	11.1	77.8	7	77.8	0	0.0	77.8	7	77.8	0	0.0	77.8	7	77.8	0	0.0	77.8
2005	4	0	0.0	1	25.0	25.0	0	0.0	1	25.0	25.0	0	0.0	1	25.0	25.0	0	0.0	1	25.0	25.0	1	25.0	0	0.0	25.0	1	25.0	0	0.0	25.0
2006	11	0	0.0	9	81.8	81.8	1	9.1	6	54.5	63.6	6	54.5	2	18.2	72.7	7	63.6	1	9.1	72.7	7	63.6	1	9.1	72.7	8	72.7	. 0	0.0	72.7
2007	11	1	9.1	5	45.5	54.5	2	18.2	5	45.5	63.6	4	36.4	1	9.1	45.5	4	36.4	4	36.4	72.7	4	36.4	2	18.2	54.5	4	36.4	2	18.2	54.5
2008	5	0	0.0	5	100.0	100.0	0	0.0	4	80.0	80.0	2	40.0	2	40.0	80.0	3	60.0	1	20.0	80.0	4	80.0	0	0.0	80.0	4	80.0	. 0	0.0	80.0
2009	8	1	12.5	6	75.0	87.5	1	12.5	5	62.5	75.0	4	50.0	1	12.5	62.5	5	62.5	0	0.0	62.5	5	62.5	0	0.0	62.5			ı		
2010	10	0	0.0	9	90.0	90.0	1	10.0	7	70.0	80.0	6	60.0	2	20.0	80.0	6	60.0	1	10.0	70.0		1					1	ı		
2011	14	0	0.0	13	92.9	92.9	3	21.4	8	57.1	78.6	7	50.0	3	21.4	71.4							1					1	ı		
2012	18	2	11.1	10	55.6	66.7	5	27.8	10	55.6	83.3																				
2013	12	0	0.0	7	58.3	58.3	I		1		1						I					I	1		l	1	l	1			
2014	7																														

*Number and percent of original cohort who have graduated within 4 years (before 5th fall).

Average Std Dev.

74.2 17.3

^{*}Number and percent of original cohort who have graduated within 4 years (before 5th fall).

With degree sweeps and IPEDS exclusions through 10/2014.

**TRR: Total Retention Rate. The total number of students from the original cohort that have graduated or are still enrolled.

[&]quot;Number and percent of original cohort who have graduated within 4 years (before 5th fall).

With degree sweeps and IPEDS exclusions through 10/2014.

"TRR: Total Retention Rate. The total number of students from the original cohort that have graduated or are still enrolled.

With degree sweeps and IPEDS exclusions through 10/2014.

**TRR: Total Retention Rate. The total number of students from the original cohort that have graduated or are still enrolled.

Male - Latino

				2nd Fall					3rd Fall					4th Fall					5th Fall				6th	Fall					7th Fall		
Fall Cohort	Initial Cohort		Graduated 1 1 yr*	Cohort F	Retained	TRR**	Cumulative within	Graduated 2 yrs*	Cohort F	Retained	TRR**		Graduated 3 yrs*	Cohort F	Retained	TRR**	Cumulative within	Graduated 4 yrs*	Cohort	Retained	TRR**		Graduated 5 yrs	Cohort I	Retained	TRR**	Cumulative within	e Graduated n 6 yrs	Cohort F	Retained	TRR**
		n	% 1F	n	% 1F	% 1F	n	% 1F	n	% 1F	% 1F	n	% 1F	n	% 1F	% 1F	n	% 1F	n	% 1F	% 1F	n	% 1F	n	% 1F	% 1F	n	% 1F	n	% 1F	% 1F
2000	7	0	0.0	5	71.4	71.4	0	0.0	3	42.9	42.9	1	14.3	2	28.6	42.9	2	28.6	0	0.0	28.6	2	28.6	0	0.0	28.6	2	28.6	0	0.0	28.6
2001	7	0	0.0	6	85.7	85.7	1	14.3	4	57.1	71.4	2	28.6	3	42.9	71.4	3	42.9	2	28.6	71.4	5	71.4	0	0.0	71.4	5	71.4	0	0.0	71.4
2002	6	0	0.0	3	50.0	50.0	0	0.0	4	66.7	66.7	1	16.7	4	66.7	83.3	3	50.0	2	33.3	83.3	5	83.3	0	0.0	83.3	5	83.3	0	0.0	83.3
2003	4	0	0.0	3	75.0	75.0	0	0.0	2	50.0	50.0	1	25.0	1	25.0	50.0	2	50.0	0	0.0	50.0	2	50.0	0	0.0	50.0	2	50.0	0	0.0	50.0
2004	10	1	10.0	9	90.0	100.0	2	20.0	5	50.0	70.0	6	60.0	0	0.0	60.0	6	60.0	0	0.0	60.0	7	70.0	1	10.0	80.0	7	70.0	0	0.0	70.0
2005	5	0	0.0	5	100.0	100.0	1	20.0	2	40.0	60.0	3	60.0	0	0.0	60.0	3	60.0	0	0.0	60.0	3	60.0	0	0.0	60.0	3	60.0	0	0.0	60.0
2006	15	0	0.0	10	66.7	66.7	1	6.7	7	46.7	53.3	5	33.3	5	33.3	66.7	8	53.3	1	6.7	60.0	8	53.3	1	6.7	60.0	8	53.3	0	0.0	53.3
2007	7	0	0.0	5	71.4	71.4	1	14.3	3	42.9	57.1	1	14.3	2	28.6	42.9	3	42.9	0	0.0	42.9	3	42.9	0	0.0	42.9	3	42.9	0	0.0	42.9
2008	10	0	0.0	7	70.0	70.0	0	0.0	6	60.0	60.0	1	10.0	6	60.0	70.0	4	40.0	3	30.0	70.0	5	50.0	3	30.0	80.0	5	50.0	1	10.0	60.0
2009	8	0	0.0	7	87.5	87.5	1	12.5	5	62.5	75.0	3	37.5	3	37.5	75.0	5	62.5	1	12.5	75.0	6	75.0	0	0.0	75.0					
2010	17	0	0.0	11	64.7	64.7	1	5.9	8	47.1	52.9	4	23.5	2	11.8	35.3	6	35.3	0	0.0	35.3										
2011	20	0	0.0	14	70.0	70.0	1	5.0	14	70.0	75.0	6	30.0	8	40.0	70.0															
2012	25	0	0.0	22	88.0	88.0	3	12.0	19	76.0	88.0																				
2013	27	0	0.0	17	63.0	63.0																									
2014	23																														
												•	•									•				•					
		Average	0.0		71.4			7.6										45.9										48.7			
		Std Dev.	0.0		9.9			3.1										11.9										4.4			

Male - White

				2nd Fall					3rd Fall					4th Fall					5th Fall				6th	Fall					7th Fall		
Fall Cohort	Initial Cohort		Graduated 1 yr*	Cohort F	Retained	TRR**		e Graduated 2 yrs*	Cohort	Retained	TRR**		e Graduated 3 yrs*	Cohort	Retained	TRR**		e Graduated 4 yrs*	Cohort	Retained	TRR**		e Graduated n 5 yrs	Cohort	Retained	TRR**		Graduated 6 yrs	Cohort F	Retained	TRR**
		n	% 1F	n	% 1F	% 1F	n	% 1F	n	% 1F	% 1F	n	% 1F	n	% 1F	% 1F	n	% 1F	n	% 1F	% 1F	n	% 1F	n	% 1F	% 1F	n	% 1F	n	% 1F	% 1F
2000	354	6	1.7	258	72.9	74.6	26	7.3	218	61.6	68.9	112	31.6	112	31.6	63.3	168	47.5	39	11.0	58.5	188	53.1	16	4.5	57.6	198	55.9	10	2.8	58.8
2001	341	3	0.9	261	76.5	77.4	34	10.0	200	58.7	68.6	133	39.0	83	24.3	63.3	183	53.7	29	8.5	62.2	203	59.5	11	3.2	62.8	208	61.0	6	1.8	62.8
2002	317	1	0.3	250	78.9	79.2	31	9.8	201	63.4	73.2	120	37.9	96	30.3	68.1	178	56.2	23	7.3	63.4	193	60.9	13	4.1	65.0	200	63.1	11	3.5	66.6
2003	321	3	0.9	237	73.8	74.8	35	10.9	175	54.5	65.4	117	36.4	83	25.9	62.3	167	52.0	27	8.4	60.4	186	57.9	5	1.6	59.5	190	59.2	5	1.6	60.7
2004	364	4	1.1	292	80.2	81.3	43	11.8	208	57.1	69.0	145	39.8	88	24.2	64.0	203	55.8	32	8.8	64.6	223	61.3	10	2.7	64.0	227	62.4	4	1.1	63.5
2005	358	1	0.3	280	78.2	78.5	40	11.2	201	56.1	67.3	137	38.3	91	25.4	63.7	193	53.9	32	8.9	62.8	210	58.7	16	4.5	63.1	216	60.3	9	2.5	62.8
2006	347	4	1.2	278	80.1	81.3	36	10.4	215	62.0	72.3	145	41.8	99	28.5	70.3	203	58.5	33	9.5	68.0	228	65.7	10	2.9	68.6	231	66.6	7	2.0	68.6
2007	373	4	1.1	299	80.2	81.2	56	15.0	226	60.6	75.6	163	43.7	98	26.3	70.0	221	59.2	34	9.1	68.4	242	64.9	12	3.2	68.1	248	66.5	4	1.1	67.6
2008	410	5	1.2	334	81.5	82.7	60	14.6	240	58.5	73.2	176	42.9	119	29.0	72.0	258	62.9	33	8.0	71.0	278	67.8	14	3.4	71.2	283	69.0	9	2.2	71.2
2009	450	3	0.7	370	82.2	82.9	54	12.0	273	60.7	72.7	185	41.1	123	27.3	68.4	271	60.2	33	7.3	67.6	291	64.7	16	3.6	68.2			1 '		
2010	439	5	1.1	367	83.6	84.7	68	15.5	265	60.4	75.9	186	42.4	126	28.7	71.1	270	61.5	32	7.3	68.8								1 '		
2011	463	2	0.4	380	82.1	82.5	74	16.0	281	60.7	76.7	207	44.7	126	27.2	71.9													1		
2012	443	1	0.2	364	82.2	82.4	59	13.3	267	60.3	73.6																		1		
2013	488	5	1.0	377	77.3	78.3																							1 '		
2014	472																												1		
			•							•					•		_										-	•			
		Average	0.7		81.3			14.9										61.6										67.4			
		Std Dev.	0.4		2.4			1.2										1.1										1.2			

				2nd Fall					3rd Fall					4th Fall					5th Fall				6th	Fall					7th Fall		
Fall Cohort	Initial Cohort		e Graduated n 1 yr*	Cohort R	Retained	TRR**		Graduated 2 yrs*	Cohort F	Retained	TRR**		Graduated 3 yrs*	Cohort	Retained	TRR**		e Graduated 4 yrs*	Cohort I	Retained	TRR**		Graduated 5 yrs	Cohort I	Retained	TRR**		Graduated 6 yrs	Cohort I	Retained	TRR**
		n	% 1F	n	% 1F	% 1F	n	% 1F	n	% 1F	% 1F	n	% 1F	n	% 1F	% 1F	n	% 1F	n	% 1F	% 1F	n	% 1F	n	% 1F	% 1F	n	% 1F	n	% 1F	% 1F
2000	4	0	0.0	3	75.0	75.0	0	0.0	2	50.0	50.0	3	75.0	0	0.0	75.0	3	75.0	0	0.0	75.0	3	75.0	0	0.0	75.0	3	75.0	0	0.0	75.0
2001	4	0	0.0	4	100.0	100.0	1	25.0	2	50.0	75.0	2	50.0	0	0.0	50.0	2	50.0	1	25.0	75.0	3	75.0	0	0.0	75.0	3	75.0	0	0.0	75.0
2002	8	0	0.0	7	87.5	87.5	3	37.5	3	37.5	75.0	5	62.5	0	0.0	62.5	6	75.0	0	0.0	75.0	6	75.0	0	0.0	75.0	6	75.0	0	0.0	75.0
2003	1	0	0.0	0	0.0	0.0	1	100.0	0	0.0	100.0	1	100.0	0	0.0	100.0	1	100.0	0	0.0	100.0	1	100.0	0	0.0	100.0	1	100.0	0	0.0	100.0
2004	3	0	0.0	3	100.0	100.0	1	33.3	1	33.3	66.7	2	66.7	0	0.0	66.7	2	66.7	0	0.0	66.7	2	66.7	1	33.3	100.0	3	100.0	0	0.0	100.0
2005	5	1	20.0	3	60.0	80.0	3	60.0	1	20.0	80.0	4	80.0	0	0.0	80.0	4	80.0	0	0.0	80.0	4	80.0	0	0.0	80.0	4	80.0	0	0.0	80.0
2006	3	0	0.0	3	100.0	100.0	0	0.0	3	100.0	100.0	3	100.0	0	0.0	100.0	3	100.0	0	0.0	100.0	3	100.0	0	0.0	100.0	3	100.0	0	0.0	100.0
2007	2	0	0.0	2	100.0	100.0	1	50.0	1	50.0	100.0	1	50.0	0	0.0	50.0	1	50.0	0	0.0	50.0	1	50.0	0	0.0	50.0	1	50.0	0	0.0	50.0
2008	1	0	0.0	1	100.0	100.0	0	0.0	1	100.0	100.0	0	0.0	1	100.0	100.0	1	100.0	0	0.0	100.0	1	100.0	0	0.0	100.0	1	100.0	0	0.0	100.0
2009	2	0	0.0	1	50.0	50.0	0	0.0	1	50.0	50.0	1	50.0	0	0.0	50.0	1	50.0	0	0.0	50.0	1	50.0	0	0.0	50.0					
2010	5	0	0.0	4	80.0	80.0	1	20.0	3	60.0	80.0	2	40.0	0	0.0	40.0	2	40.0	1	20.0	60.0										
2011	8	0	0.0	4	50.0	50.0	1	12.5	3	37.5	50.0	2	25.0	2	25.0	50.0															
2012	9	0	0.0	5	55.6	55.6	1	11.1	5	55.6	66.7																				
2013	4	0	0.0	3	75.0	75.0																									
2014	6																														
																												83.3			
		Average Std Dev.	0.0 0.0		65.1 12.6			14.5 3.9									rerage 0.0 65.1 14.5 63.3 d Dev. 0.0 12.6 3.9 262														

0.0 *Number and percent of original cohort who have graduated within 4 years (before 5th fall).

^{*}Number and percent of original cohort who have graduated within 4 years (before 5th fall).

With degree sweeps and IPEDS exclusions through 10/2014.

**TRR: Total Retention Rate. The total number of students from the original cohort that have graduated or are still enrolled.

[&]quot;Number and percent of original cohort who have graduated within 4 years (before 5th fall).

With degree sweeps and IPEDS exclusions through 10/2014.

"TRR: Total Retention Rate. The total number of students from the original cohort that have graduated or are still enrolled.

With degree sweeps and IPEDS exclusions through 10/2014.

**TRR: Total Retention Rate. The total number of students from the original cohort that have graduated or are still enrolled.

Male - Pacific Islander

maio		no ioianie																														
					2nd Fall					3rd Fall					4th Fall					5th Fall				6th	Fall					7th Fall		
F: Col		Initial Cohort	Cumulative within	Graduated 1 yr*	Cohort I	Retained	TRR**		e Graduated n 2 yrs*	Cohort	Retained	TRR**		e Graduated n 3 yrs *	Cohort	Retained	TRR**		e Graduated n 4 yrs*	Cohort	Retained	TRR**		Graduated 5 yrs	Cohort I	Retained	TRR**		Graduated 6 yrs	Cohort R	etained	TRR**
			n	% 1F	n	% 1F	% 1F	n	% 1F	n	% 1F	% 1F	n	% 1F	n	% 1F	% 1F	n	% 1F	n	% 1F	% 1F	n	% 1F	n	% 1F	% 1F	n	% 1F	n	% 1F	% 1F
2000	2009 re	ported un	der "Asian"																													
20	10	3	0	0.0	1	33.3	33.3	0	0.0	0	0.0	0.0	0	0.0	0	0.0	0.0	0	0.0	0	0.0	0.0	I			1	1		l I		. 1	
20	11	0	-																													
20	12	0	-																													
20	13	0	-																										1			
20	14	1																											1			
															•					•				-								
			Average	0.0		33.3			0.0										0.0													
			Std Dev.	0.0		0.0			0.0										0.0													

*Number and percent of original cohort who have graduated within 4 years (before 5th fall).

Male - Multi-racial

				2nd Fall					3rd Fall					4th Fall					5th Fall				6th	Fall					7th Fall		
Fall Cohort	Initial Cohort	Cumulative within	Graduated	Cohort F	Retained	TRR**	Cumulative within		Cohort F	Retained	TRR**	Cumulative within		Cohort F	Retained	TRR**	Cumulative within	Graduated 4 yrs*	Cohort	Retained	TRR**		Graduated 5 yrs	Cohort I	Retained	TRR**	Cumulative within	Graduated 6 yrs	Cohort F	Retained	TRR**
		n	% 1F	n	% 1F	% 1F	n	% 1F	n	% 1F	% 1F	n	% 1F	n	% 1F	% 1F	n	% 1F	n	% 1F	% 1F	n	% 1F	n	% 1F	% 1F	n	% 1F	n	% 1F	% 1F
2000	0	-																													1
2001	0	-																													
2002	0	-																													
2003	5	0	0.0	3	60.0	60.0	0	0.0	2	40.0	40.0	1	20.0	2	40.0	60.0	4	80.0	0	0.0	80.0	4	80.0	0	0.0	80.0	4	80.0	0	0.0	80.0
2004	0	-																													
2005	0	-																													
2006	0	-																													
2007	0	-																													
2008	0	-																													
2009	0	-																													
2010	1	0	0.0	1	100.0	100.0	0	0.0	1	100.0	100.0	0	0.0	1	100.0	100.0	0	0.0	1	100.0	100.0										
2011	12	0	0.0	9	75.0	75.0	1	8.3	6	50.0	58.3	5	41.7	3	25.0	66.7															
2012	14	0	0.0	13	92.9	92.9	1	7.1	7	50.0	57.1						I	1			1	I	1				I				
2013	19	0	0.0	16	84.2	84.2	ll				l				l		I	1			1	I	1				I				
2014	8																														

Average Std Dev. 5.2 3.7 0.0 0.0 9.4

*Number and percent of original cohort who have graduated within 4 years (before 5th fall).

with degree sweeps and IPEDS exclusions through 102014.

**TRR: Total Retention Rate. The total number of students from the original cohort that have graduated or are still enrolled.

Male - Unknown

				2nd Fall					3rd Fall					4th Fall					5th Fall				6th	Fall					7th Fall		/ /
Fall Cohort	Initial Cohort		Graduated 1 1 yr*	Cohort F	Retained	TRR**	Cumulative within	e Graduated a 2 yrs*	Cohort F	Retained	TRR**	Cumulative within		Cohort F	Retained	TRR**	Cumulative within	Graduated 4 yrs*	Cohort	Retained	TRR**		Graduated 5 yrs	Cohort I	Retained	TRR**	Cumulative within		Cohort R	Retained	TRR**
		n	% 1F	n	% 1F	% 1F	n	% 1F	n	% 1F	% 1F	n	% 1F	n	% 1F	% 1F	n	% 1F	n	% 1F	% 1F	n	% 1F	n	% 1F	% 1F	n	% 1F	n	% 1F	% 1F
2000	0	-																													
2001	0	-					ll																								
2002	0	-					ll																								
2003	5	0	0.0	4	80.0	80.0	2	40.0	1	20.0	60.0	2	40.0	0	0.0	40.0	3	60.0	0	0.0	60.0	3	60.0	0	0.0	60.0	3	60.0	0	0.0	60.0
2004	1	0	0.0	0	0.0	0.0	0	0.0	0	0.0	0.0	0	0.0	0	0.0	0.0	0	0.0	0	0.0	0.0	0	0.0	0	0.0	0.0	0	0.0	0	0.0	0.0
2005	0	-					ll																								
2006	1	0	0.0	1	100.0	100.0	0	0.0	1	100.0	100.0	0	0.0	1	100.0	100.0	0	0.0	1	100.0	100.0	1	100.0	0	0.0	100.0	1	100.0	0	0.0	100.0
2007	0	-					ll																								
2008	1	0	0.0	1	100.0	100.0	0	0.0	1	100.0	100.0	0	0.0	0	0.0	0.0	0	0.0	0	0.0	0.0	0	0.0	0	0.0	0.0	0	0.0	0	0.0	0.0
2009	2	0	0.0	2	100.0	100.0	1	50.0	1	50.0	100.0	2	100.0	0	0.0	100.0	2	100.0	0	0.0	100.0	2	100.0	0	0.0	100.0					
2010	1	1	100.0	0	0.0	100.0	1	100.0	0	0.0	100.0	1	100.0	0	0.0	100.0	1	100.0	0	0.0	100.0										
2011	0	-					ll																								
2012	0	-					ll																								
2013	2	0	0.0	2	100.0	100.0	l													1	ĺ		1								
2014	5						ll																								

100.0 66.7 47.1 50.0 50.0 50.0 50.0 Average Std Dev.

With degree sweeps and IPEDS exclusions through 10/2014.
**TRR: Total Retention Rate. The total number of students from the original cohort that have graduated or are still enrolled.

^{*}Number and percent of original cohort who have graduated within 4 years (before 5th fall).

With degree sweeps and IPEDS exclusions through 10/2014.

**TRR: Total Retention Rate. The total number of students from the original cohort that have graduated or are still enrolled.